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Note on grading of questions Q3 and Q6!!!

® the final score for questions Q3 and Q6 is computed according to
the following formula: scorep, — 4 + BEULO et ot orasii 2

I QI. Prove that the Modigliani and Miller propo-

sitions MM 1 and MM2 are consistent with each
other.
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Atomistic competition assumption implies:
1. Many small firms and investors, unable to individually influence
the market price (price-taking assumption)
No information asymmetry and hence no agency costs
No economies of scale
Firms are price-takers
individual investors cannot influence the price of securities

Low profits and low prices for consumers
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In practice, each of this implications is likely to be violated.
e Grading:

— Total 8 points

— State assumptions behind atomistic competition, and explain
how they might be violated (3 points per correct assump-
tion /explanation )

dit spread
rated non-




.1;_.;,_1,31,._,,..,-—., J_-; tmwm:trwﬁgg-gll,t T

4 Q4. Companies put specific assets in SPVs (for

example real estate). Mention the most impor-
tant advantages of doing this? Use the Struc-
tured Finance Model as discussed in class.

Answer:

5

1. Match risk/return preferences
2. split risk-return characteristics of assets -> reduced information asym-
metry

3. profit from specific market circumstances (real estate boom, asset se-
curitization fashion)

Grading:
1. Total 8 points

2. 4 points for each correct explanation

Q5. Hint Mezzanine Money for Smaller busi-
nesses

e What are the advantages of




6 Q6. In explaining leverage by firm ch_aracter-ts-
tics (by a regression analysis) the factor re§earch
and development turns out to have a negative re-
lationship with debt /total assets. What could be
an explanation for this?

e Collateral hypothesis: R&D expenditure provides little tangible collat-
eral, which in turn decreases the capacity of a firm to borrow.

Grading;:

¢ 8 points in total for adequately stating and explaining the collateral
hypothesis or some other plausable alternative.

7 Q7. What do Rating agencies do in the assess-
ment of corporate credit risk of (non-financial)
companies? What is t o \t they







10 Q10. Hint: Corporate Debt Instruments and
leveraged loans (2007) article

e What are CLOs?

1. a form of securitization where payments from multiple loans i
pooled together and passed on to different classes of owners in
various tranches.

e For what reason are CLOs created?

1. find a better match between risk /return preferences of investors
and risk/return properties of securities sold/

Grading;:
e 8 points in total
® 4 points for correctly defining CLOs,

e 4 points for gi
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~ Use a two period binomial model to quantify this premi“um(mme in o
the discrete time framework the firm has at t — 0, 1 and 2), | '

Consider first the value of the convertible bond with no callable option.
What is the change in value of the convertible bond if the callable option is

added?

Answer:

e u=exp(c A t) = exp(0.405) = 1.5, d=1/u=0.67,
p=(e'-d)/(u-d)=0.47

e Stock prices are as follows:

=iPg.= 50
—Pylu) =75
~— Pi(d) = 3333

— Po(uu) = 112.5 - 20 = 92.5 (dividend!)
= Pg(ud) = Pg(du) = 30
— Py(dd) = 22.2- 20 = 0.2

e Debt repayments in final period are as follows:

— Dsy(uu) = 92.5 * 2 = 185 (conversion!)




